€ 7. M EDELZDAK 2010 EEHBE BEBHE A2 (£2R) BAESIRE K% :

(1] BOWADHEBOTROBYEZH x THAE & (4] BE% f(x) = () DEREHA HE 3 & RIS ETRDS.
a) f(x)=@2—x+DE3+1) b) f(x) = (2x + 1)Jx
a) f(x)=—— OAB%IOICR f(X)gx) = 1 DWLZEHBAE L.
f1(x) = f1(x) = ( )

f@ghx) = (f)g)h(x) TH3ZEEBOBARRAMNT 3 DOEKOBEDEEHR
(f(x)g(x)h(x)) Rk,

b) a) TROIHKZ f/(x) ICDOTHEE, f'(x) Z g(x) & g'(x) DHTEE.

5] f((x; £ x ﬂrm COEDEBOBAAREBOTHAL, BES TELAREANS

CoCEY, BOBEER (fg";) T

gx) = EROBHETBHES, B f(x) = T DERHETERICLICH > TRD L.

[EITH<]



[6] BREHOMDELBOTROBEEZEH x THHE L.
a) f(x)=(@2x>+3)° b) f(x) = VxZ+1
fx) = Fl(x) =

(7 (sth))) =30

BIS f(x) &XOBBE f1(x) F f(fT' () = x ZHICT. COWMDEMNT B &K YHES
BOBEK (f~(xv) ZRD&.

(9] ROBEKARH x THAE K.
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e) f(x) = Vx2—x+1
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